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AB[2TH2232%26 1:15 WMEE HE HR 1EH
(8) - 1[I KE[2—8—12—4] W2 TK 950m | ( 60, 100)
SNV-ETEHR 113,000[ 231 F=E FIRE—BEENZVEL [FE  46m[KkE =8
* ABI3TH2771%&2 1:2 AR AE B Hh i THE 112
(8) - 2|[AET3—19—19] W2 T K 640m | ( 60, 200)
SNEETEHRK 85,300 170 *=E PHEEENZVEREEE |& 6m |/KE&E REW
HH4TH7ES 1:1.5 FEEHE & HR 1EE
(8) -3 W2 TK 1.4km | ( 60, 100)
SWEREHREK 75,500( 202 F=E —EENZRELNS & 6m |/K&E =8
W1 TH451&24 1.5:1 EEH I TE HR 1E®E
(8) - 4|11 —5—13] W2 T K 1.5km | ( 50, 80)
SNV-ETEHR 82,500] 198 F=E PHE—BREEENRS |EHE 6m [7K3E =
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